
Вариант 1 

 

1. Найдите значение выражения: 

а)  760000 62 28000:56 609  ; 

б) 11043:27 398 302 99 92    . 

2. Решите уравнение:   а)   5 4 12 140х х   ;          б)  

3 8 44 0у у   . 

3. Найдите значение выражения наиболее удобным способом:  

      36 2 50  . 

 

Вариант 2 

 

1. Найдите значение выражения: 

а)  90050 219 380 190 :90   ; 

б)    11461: 979 822 3843 759 :177   . 

2. Решите уравнение:   а)   8 7 34 240х х   ;          б)  

2 5 56 0у у   . 

3. Найдите значение выражения наиболее удобным способом:  

      2 68 50  . 
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